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1. Which of the following will prove that quadrilateral JUNE is a parallelogram?
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2. Which of the following will not prove that quadrilateral PORK is a parallelogram? Q
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3. Which of the following will prove parallelogram ABCD is a rectangle?
1) 4B=BC () AC=BD E:( ol %r
2) AC L BD 4) AB=CD and AD=BC

A X D
4, W_hich o_f the following will not prove paralﬂgram JKLM is a rhombus?
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5. Which of the following will prove rectangle MATH is a square? . \ '
1) MT =40 < N KLLIM < o¢ of
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6. Given: SPIN is a square i
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Prove: ASNI = ASPI
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7. Given: ABCD is a rectangle, M is the midpoint of CD B l c
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8. Given: Parallelogram 4BCD, BF L AFD, and DE L BEC B E C

Prove: AF =EC | )
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9. Given: E is the midpoint of SB, SB bisects AR
Prove: SABR is a parallelogram B
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10. Given: MILO is a rhombus MILIL | L
Prove: MILO is a square LA
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11. Given: BARK is a rectangle and A4RK is 1sosceles
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Prove: BARK is a square
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